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 Arithmetic SSC Special Practice Set-II 

1. There is a wa ter tank of ca pac ity 500 litres

which is con nected with two fill ing pipes P1 and 

P2 , which can fill the tank in 37
1

2
 hours and 60

hours re spec tively. The rate at which P2  fills the 

tanks is less than that of P1 by what per cent?

Skeâ heeveer keâe šQkeâ efpemekeâer #ecelee 500 ueeršj nw oes Yejs ngSs heeFheeW 
P1  leLee P2  mes peg[e nw~ pees efkeâ šQkeâ keâes, 37.5 IeCšs ceW Yej oslee
nw~ lees P2  heeFhe, P1 heeFhe mes efkeâleves % keâce oj mes šQkeâ keâes Yejlee
nw~
(a) 60% (b) 37.5% (c) 25% (d) 30.5% 

(e) None of these

2. 300 ap ples are distributed equally among a

cer tain num ber of stu dents. Had there been 10

more stu dents, each stu dent would have

re ceived one ap ple less. Find the num ber of

stu dents.

kegâÚ efveefMÛele efJeÅeeefLe&ÙeeW ceW 300 mesyeeW keâes yejeyej yeeBše peelee nw~
Ùeefo 10 efJeÅeeLeea Deesj Dee peeles nw lees ØelÙeskeâ efJeÅeeLeea keâes Skeâ mesye
keâce Øeehle ngDee~ lees efJeÅeeLeeaÙeeW keâer mebKÙee %eele keâjW~  
(a) 70 (b) 40 (c) 55 (d) 50

(e) None of these

3. In a 30-litre mix ture of milk and wa ter, the ra tio

of milk to wa ter is 7 : 3. How much quan tity of

wa ter should be added to the mix ture to make

the ra tio of milk to wa ter 1 : 2 ?

30 ueeršj kesâ efce#eCe ceW otOe leLee heeveer keâe Devegheele 7 3:  nw~ heeveer
keâer efkeâleveer cee$ee Deesj efceueeF& peeSs leeefkeâ efce#eCe ceW heeveer, leLee otOe
leLee heeveer keâe Devegheele 1 2:  nes~
(a) 30 litres (b) 32 1itres (c) 33 litres (d) 35 litres

(e) None of these

4. If 3 pumps can empty a tank in 2 days by

work ing 8 hours a day, how many hours a day

must 4 pumps work to empty the tank in one

day?

Ùeefo 3 heche Skeâ šQkeâ keâes 2 efoveeW ceW 8 IeCšs/efove keâece keâjkesâ
Keeueer keâj mekeâles nw lees efkeâleves IeCšs Øeefleefove keâece keâjkesâ 4 heche
Gme šQkeâ keâes Keeueer keâj mekeâles nw~
(a) 12 hours (b) 15 hours

(c) 18 hours (d) 9 hours    

(e) None of these

5. Anish spends 25% of his sal ary on house rent, 5%

on food, 15% on travel, 10% on clothes, and thus

he saves Rs. 22,500. What is Anish's sal ary?

Deveerme Deheveer DeeÙe keâe 25% Iej kesâ efkeâjeÙes hej, 5% Yeespeve hej, 
15% Ùee$ee hej leLee 10% keâhe[eW hej KeÛe& keâjlee nw~ Fme Øekeâej Jen
22500 yeÛeelee nw leye Deveerme keâer DeeÙe keäÙee nQ~
(a) Rs. 40000 (b) Rs. 40500

(c) Rs. 45500 (d) Rs. 50000

(e) None of these

6. What is the prob a bil ity that a card drawn at

ran dom from a well-shuf fled pack of 52 cards is

ei ther a king or a di a mond?

52 leeMe kesâ heòeeW ceW efkebâie (jepee) Ùee [eÙeceb[ (F&š keâe Fkeäkeâe) kesâ
efvekeâueves keâer ØeeefÙekeâlee keäÙee nw~

(a) 
11

52
(b) 

4

13
(c) 

3

13
(d) 

13

52

(e) None of these

7. Clock A loses 1 min ute a day and clock B gains 

1
1

2
 min utes a day. If clock B is 30 min utes ahead

of clock A, how many days will clock B take to be 

45 min utes ahead of clock A?

Ie[er A Skeâ efove ceW 1 efceveš keâceer leLee B Ie[er B Skeâ efove ceW 1.5

efceveš keâer Je=efæ keâjleer nw~ Ùeefo Ie[er B, Ie[er A mes 30 efceveš Deeies
nw~ lees efkeâleves efoveeW ceW Ie[er B, Ie[er A mes 45 efceveš Deeies nesieer~
(a) 10 (b) 6 (c) 18 (d) 8 

(e) None of these

8. Which of the fol low ing equa tions are

equiv a lent?

efvecve meceerkeâjCeeW ceW keâewve meer meceerkeâjCes yejeyej nw~
(A) 2 3 5 9 2 12 2 2 2p p p p( ) ( )+ + - -

(B) ( )2 32 2p +

(C) ( )2 32 2p -

(D) 4 12 94 2p p+ +

(a) Only A and B (b) Only B and C

(c) Only B and D (d) All ex cept

(e) All except

9. A cer tain tank can be filled by pipes A and B

sep a rately in 4 and 5 min utes re spec tively.

Whereas, pipe C can empty it in 3 min utes How

long will it take to till or empty the 
4

5
th full tank.

It all the three pipes start to gether?

Skeâ šQkeâ A leLee B heeFheeW mes ›eâceMeŠ 4 leLee 5 efceveš ceW Yeje pee
mekeâlee nw~ peyeefkeâ heeFhe C  Gmes 3 efceveš ceW Keeueer keâj mekeâlee nw~

lees šQkeâ kesâ 4
5
 efnmmes keâes efkeâleves meceÙe mes YejsieW Ùee Keeueer keâjsieW Ùeefo

leerveeW heeFheeW keâes Skeâ meeLe Kesue efoÙee peeSs~
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(a) 1
5

7
 min utes to fill (b) 6

6

7
 min utes of empty

(c) 1
5

7
 min utes to empty (d) 6

6

7
 min utes to fill

(e) None of these

10. What will be the value of 16 40 252x y xy y- + , If 

x = 2 and y = 1 ?

16 40 252x y xy y- + , keâe ceeve keäÙee nesiee Ùeefo x = 2 leLee 
y = 1 nes~
(a) – 32 (b) 9 (c) 49 (d) 25

(e) None of these

Directions (Q. 11-14): Each of the questions below consists
of a question and two statements numbered I and II given
below it You have to decide whether the data provided in the
statements arc sufficient to answer the question. Read both
the statements and give answer:

veerÛes efoÙes ØelÙeskeâ keâLeve ØeMveeW kesâ oes keâLeve, keâLeve I leLee keâLeve II

efoÙes ieÙes nw~ efveefMÛele keâjles ngSs keâe GheÙegkeäle Gòej oerefpeS-
(a) If the data in state ment I alone are suf fi cient to

an swer the ques tion, while the data in state ment II

alone are not suf fi cient to an swer the ques tion.

mece&keâes keâe kesâJeue keâLeve I  Gòej kesâ efueS heÙee&hle nw leLee mecebkeâes keâe 
keâLeve II Gòej kesâ efueS heÙee&hle veneR nw~
(b) if the data in state ment II alone are suf fi cient to

an swer the ques tion, while the data in state ment I

alone are not suf fi cient to an swer the ques tion.

mecebkeâes keâe kesâJeue keâLeve II Gòej kesâ efueS heÙee&hle leLee mecebkeâes kesâ
kesâJeue keâLeve I Gòej kesâ efueS heÙee&hle veneR nw~
(c) if the data ei ther in state ment I alone or in

state ment II alone are suf fi cient to an swer the

ques tion.

 Ùee lees kesâJeue keâLeve mecebkeâes keâe keâLeve I Ùee mecebkeâes keâe keâLeve II

Gòej kesâ efueS heÙee&hle nw~
(d) if the data even in both the state ments I and II

to gether are not suf fi cient to an swer the ques tion.

mecebkeâes keâe keâLeve I leLee keâLeve II Gòej kesâ efueS heÙee&hle veneR nw~
(e) if the data in both the state ments I and II to gether

are nec es sary to an swer the ques tion.

mecebkeâeW keâe keâLeve I leLee keâLeve II oesveeW Gòej kesâ efueS heÙee&hle nw~
11. A num ber is di vis i ble by 3. Find the num ber.

Skeâ mebKÙee keâes leerve mes Yeeie efkeâÙee peelee nw, leye mebKÙee nw~ 
I. Square of the num ber is di vided by 9.

mebKÙeeDeeW keâe Jeie& 9 mes efJeYeepÙe nw~

II. 40% of the num ber is 
2

5
th of that num ber.

mebKÙee keâe 40% Gme mebKÙee keâe 2
5
 nw~

12. What is the ra tio of in vest ments of A, B and C?

A B,  leLee C kesâ efveJesMeeW keâe Devegheele nw-
I. To tal in vest ment  is Rs. 12000  in which A's

con tri bu tion is Rs. 6000. 

kegâue efveJesMe ™. 12000 ceW A keâe efnmmee ™. 6000 nw~

II.  Ra tio of in vest ment of A to B is 3 : 2 and that of B to 
C is 2 : l.

A leLee B kesâ efveJesMe keâe Devegheele 3 2:  nw Je B leLee C keâe Devegheele 
2 1:  nw~

13. The marked price of a TV set is Rs. 20,000. At

what price a cus tomer buys this TV set?

Skeâ T V.  keâe metÛeer cetuÙe ™. 20000 nw pees «eenkeâ TV keâes efkeâme
cetuÙe hej Kejerolee nw~
I. The shop keeper al lows suc ces sive dis counts of 25%

and 5%. 

ogkeâeveoej 25% leLee 5% kesâ Gòees$ej yešdše oslee nw~
II. The shop keeper al lows suc ces sive dis counts of 20% 

and Rs. 1750.

ogkeâeveoej 20% leLee ™. 1750 keâe Gòees$ej yešdše oslee nw~ 
14. The av er age sal ary of 15 teach ers of a school is

Rs. 5000 p.m. A group of 4 teach ers whose

av er age sal ary is Rs. 6000 pm leave the school

and new teacher joins. What is the av er age

salary of new group of teach ers in the school?

15 DeOÙeehekeâeW kesâ ceeefmekeâ Jesleve keâe Deewmele ™. 500 Øeefle ceen nw~ 4 
DeOÙeehekeâeW efpevekeâe Deewmele ceeefmekeâ Jesleve ™. 6000 Øeefleceen mketâue
Úes[ osles nw leLee veÙes DeOÙeehekeâ peg[les nw~ veÙes DeOÙeehekeâeW kesâ mecetn
keâe Deewmele Jesleve efkeâlevee nw~
I. There are 4 teachers in the group which left the

school.

4 DeOÙeehekeâeW keâe mecetn mketâue Úes[ osles nw~
II. The salary of the new teacher is Rs. 3000 p.m.

 veÙes DeOÙeehekeâeW keâe Jesleve ™. 3000 Øeefleceen nw~
15. A man invests equal amount at 10% per annum

for 3 years, one at simple interest and the other

at compound interest. What is the difference in

interests earned in two cases.

Skeâ Deeoceer 10% ØeefleJe<e&, 3 Je<e& kesâ yejeyej Oeve efveJesMe keâjlee nw~
Skeâ meeOeejCe yÙeepe leLee otmeje Ûe›eâJe=efæ Ùeepe hej~ oesveeW efmLeefleÙeeW 
ceW yÙeepe keâer ojeW keâe Deblej nw~ 
I. To tal in vest ments is Rs. 20,000

kegâue efveJesMe ™. 20,000 nw~
II. Ra tio of the in ter ests earned is 300 : 331

efveJesMe keâe Devegheele 300 331:  nw~
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n Answer Key

  1. (b)   2. (d)   3. (c)   4. (a)   5. (d)   6. (b)   7. (b)   8. (e)   9. (a)  10. (b)

 11. (d)  12. (b)  13. (c)  14. (e)  15. (a)

 Hint & Solutions 

1. The rate of fill ing wa ter by the two pipes are as

fol lows :

Rate of P1 =
´500 2

75

= 13
1

3
 litres per hour

Now, Rate of Fill ing by P2
500

60
8

1

3
= =

The rate at which P2 fills the tank is less than that of P1  

by

13
1

3
8

1

3

13
1

3

100
-

´ = ´ =
15

40
100 37 5. %

2. Let the number of students be x.

Then, in the first mixture, milk =
2

5

x
 and water = 

3

5

x

Then, 
300 300

10
1

x

x x
-

+
=

or, 
300 3000 300

10
1

x x

x x

+ -

+
=

( )

or, x x2 10 3000 0+ - =

or, x x x260 50 3000 0- - =

or, x(x + 60) — 50(x + 60) = 0

or, x x x( ) ( )- + =50 60 0

or, (x — 50) = 0

\ x = 50 and (x + 60) = 0

\ x = —60 (neglect the 

negative value)

3. Let the wa ter be 3x and milk be 7x in the mix ture.

Then, 7 3x x+ = 30

\ x = 3

Again, let x litre be added,

Milk  :  wa ter

 21      9

Now,
21

9 + x
=

1

2

or, 9 + x = 42

or, x = 33 litres

4. Let the pumps the P1 and P2 ,

the days be D1  and D2

and the hours be h1  and h2

Then, P D h1 1 1 = P D h2 2 2

or, 3 8 2´ ´ = ´ ´4 1 2h

\ h2 =
´ ´

´
=

3 8 2

4 1
12 hours

5. Let Anish’s sal ary be x. 

Then, Anish’s spend on house rent =
´x 25

100

= Rs. 
x

4

food =
´

=
x 5

100
 Rs. 

x

20

travel =
´

=
x 15

100
 Rs. 

3

20

x

clothe =
´

=
x 10

100
 Rs. 

x

10

Re main ing amount

    = - + + +æ

è
ç

ö

ø
÷

é

ë
ê

ù

û
úx

x x x x

4 20

3

20 10
= 22500

or,
20 5 3 2

20

x x x x x- + + +( )
= 22500

\ x

=
- + + +20 5 3 2

20

x x x x x( )

= Rs. 50000

6. Let E and F be the event of getting diamond

and a king respectively.

Then E FÇ  is the event of gwtting a king of 

diamond.

\ n E n F( ) , ( )= =13 4 and 

n E F( )Ç = 1

So ,  P E P F( ) , ( )= = = =
13

52

1

4

4

52

1

13
 and P E F( )Ç  

=
1

52

P E F( )Ç =
1

52

\ P(a diamond or king)

= + - =
+ -

= =
1

4

1

13

1

52

13 4 1

52

16

52

4

13

7. Ac cord ing to ques tion,

Clock B gains per hour to

A = +æ

è
ç

ö

ø
÷

1

24

1

16

=
+

=
2 3

48

5

48
 min

Now,

Clock B gains 
5

48
 min in an hour
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\ Clock B gains 15 min in 
48

5
15´  hour

=
´

´

48 15

5 24
 days = 6 days.

8. = + + - -2 3 5 9 2 12 2 2 2p p p p( ) ( )

= + + - +6 10 9 2 24 2 4 2p p p p

= + + = +4 12 9 2 32 2 2 2p p p( )

( )b = +( )2 32 2p

( )c = -( )2 32 2p

( )d = + +4 12 92 2p p

= +( )2 3 22p

\ ( )a = =( ) ( )b d

There fore, the re quired an swer is op tion (e).

9. A’s work in one min ute =
1

4

B’s work in one min ute =
1

5

C’s work in one min ute =
1

3

\ ( )’A B C s+ +  work in min ute

= + -æ

è
ç

ö

ø
÷

1

4

1

5

1

3

=
+ -

=
15 12 20

60

7

60

\ Time taken to fill 1
4

5
-

i e. ., 
1

5
 part of tank = ´ = =

60

7

1

5

12

7
1

5

7
 min

10. Given ex pres sion = - +16 40 252x y xy y

= ´ ´ - ´ ´ + ´16 2 1 40 2 1 25 12

= - + =64 80 25 9

11. If a num ber is di vis i ble by 3 it can be writ ten as 

3x square of the num ber = =( )3 92 2x x

Hence square of the num ber is di vis i ble by 9.

Thus, state ment I does not yield any ad di tional ̀

in for ma tion.

40% of x = =
40

100
3

2

5
3( ) ( )x x

Thus, state ment II too does not given any ad di tional 

in for ma tion.

We can also see that even both state ments I and II 

to gether can’t give the so lu tion.

12. Statement I : Total investment of A + B + C = Rs.

12000

A's investment = Rs. 6000

It says nothing about the investments of B and

C.

Therefore, statement I alone is not sufficient to

answer the question.

Statement II. A : B = 3 : 2 

B : C = 2 : 1 

B is common to both ratios. Therefore, we can

directly write,

A : B : C = 3 : 2 : 1. (Because 2 is common to both

the ratios)

Thus, we see that statement II alone is sufficient 

to answer the question. 
13. Marked price of the TV set = Rs. 20,000

discount of 25% and 5%

Price after 25% discount 

= (1 — 0.05) × Rs. 20000 = Rs. 15000

Price after 2nd discount of 5%

= (1 — 0.05) × Rs. 15000 = Rs. 14250 

Thus, statement I alone is sufficient to answer

the question.

Statement II : The shopkeeper allows sucessive

discount of 20% and Rs. 1750

Price after 20% discount = (1 — 0.20) × Rs. 20000

= Rs. 16000

Thus, statement II alone is sufficient to answer

the question

Hence, either statement I ot statement II alone

is sufficient to answer the question.

14. Average monthly salary of 15 teachers is Rs.

5000

Total monthly salary of 15 teachers = 15 × Rs.

5000 = Rs. 75000

Statement II : A group of 4 teachers whose

average monthly salary is Rs. 6000 leaves the

school.

\ Total monthly salary of these 4 teacher.

= 4 × Rs. 6000 = Rs. 24000

But a new teacher has joined the school and its

statement gives no data abount his saary.

Therefore, statement I alone is not sufficient to

answer the question.

Statement II : Salary of the new teacher is Rs.

3000 per month.

But it says nothing about the no. of teachers

who left the school. So, this statement alone is

not sufficient.

Let us combine the two statements.

Total monthly salary of remaining 11 teachers

in the school = Rs. 51000.

Monthly salary of the new teacher who jons =

Rs. 3000

Total monthly salary of new group of 12

teachers in the school = Rs. (51000 + 3000) = Rs.

54000

\ Average monthly salary of new group of 12 

teachers in the school 
Rs. 54000

12
 = Rs. 4500
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15. Let the sum invested in each case base be Rs. x

Simple interest =
´ ´Pr incipal rate time

100

\ Compound interest = +æ

è
ç

ö

ø
÷ -

é

ë
ê
ê

ù

û
ú
ú

1
100

1
R

T

\ Compound interest = æ

è
ç

ö

ø
÷ -

é

ë
ê
ê

ù

û
ú
ú

x
11

10
1

3

= -é

ëê
ù

ûú
=x x

1331

1000
1

331

1000

Statement I :

Total investment = Rs. 20,000

\  Investment in each case x =
20000

2
 Rs. 10,000

SI x= = ´
3

10

3

10
10000 = Rs. 3000

CI x= = ´
331

100

331

1000
10000 = Rs. 3310

CI × SI = Rs. (3310 — 3000) = Rs. 310

Thus, statement I alone is sufficient information 

as we can get it from 

SI

CI

x

x

x

x
= = ´ =

3

10
331

1000

3

10

1000

331

300

331

This data is not sufficient to find the answer

because the total interest is not given.
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